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What Should aBoy Do I f He Loses a Kneg?

Do each exercise and find your answer in the corresponding set of answer boxes.
Write the letter of the exercise in the box containing the answer.

-88 + -8 (1) 120+ 10 (-18 +-2) + (28 + 7)
(H) 49+-7 (R) 48+6 (H) (12+-4) + (-64 = 8)
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1 |60|60 |11 [-15]13[8 [12]-4]-7]-5]-8]7 [10]-11]4 —]

-60 +-12 -120 + 6 (F) (25+-5) + (16 + 2)
(A) 99 +-1 (N) -200 +-5 (S) (-63+-7) + (-15+ 15)

® % @ ®% .
® % ® % CE

siebeyu| Buiping -6 O1dOL

-5 | 7 8 -3 4 3 4 |20 2 | 6 |-10 |57 | & 10 | 99 | 20 2 I






